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ПРЕДИСЛОВИЕ
Учебное пособие предназначено для  завершающего этапа курса обучения английскому языку в неязыковом вузе по направлению подготовки 35.03.06 Агроинженерия. Пособие разработано в соответствии с рабочей программой и направлено на выполнение предусмотренных ею задач. Основной целью учебного пособия является формирование коммуникативной компетенции, умений и навыков, необходимых для иноязычного профессионального общения. Теоретическая часть пособия представлена в виде  описания грамматических явлений, категорий и правил, сопровождаемых примерами, таблицами и заданиями для контроля усвоения грамматического материала. Структурно учебное пособие состоит из четырех разделов (Units) для аудиторной  и самостоятельной работы. Разделы включают в себя следующую тематику: Engines, Automobiles, Tractors, Farm Machinery. Каждый раздел пособия состоит из трех подразделов (Sections): Grammar, Vocabulary and word study, Reading and speaking.  Подраздел  Grammar представляет информацию по определенным грамматическим темам, необходимым для работы с профессионально ориентированными материалами на английском языке.  Подраздел Vocabulary and word study содержит тематическую лексику раздела и комплекс лексико-грамматических заданий, направленный на формирование навыков применения профессиональных терминов на основе грамматического материала. Подраздел Reading and speaking содержит тексты профессиональной направленности и задания, нацеленные на формирование устной речи. 
Учебное пособие разработано преподавателями кафедры иностранных языков КубГАУ [авторы: Н. П. Стржельбицкая, разделы 1, 2; Т. Е. Тапехина, разделы 3, 4]. Авторы будут признательны за отзывы и пожелания, которые можно направлять по электронному адресу. Наш e-mail: inostrannyh-jazykov@kubsau.ru
UNIT 1. ENGINES

Section 1. Grammar
Active and Passive Voices
Залог - одна из важнейших грамматических категорий глагола. Залог – это способ выражения взаимоотношений между действием, его исполнителем и объектом, на который это действие направлено. В зависимости от характера этих взаимоотношений выделяют два типа залога: активный залог (Active Voice) и пассивный (страдательный) залог (Passive Voice), которые, как грамматическая категория, соответствуют действительному и страдательному залогам в русском языке.
He did this work quickly. Он выполнил эту работу быстро.

This work was done by him quickly. Эта работа была выполнена им быстро.
 Частота использования пассивного залога глагола в английском языке  выше, чем в русском, поэтому при построении и переводе пассивных грамматических конструкций часто возникают трудности. Для понимания данной грамматической категории, необходимы теоретические сведения и рассмотрение закономерностей и примеров использования активного и пассивного залогов английского глагола.

Активный (действительный) залог  (Active Voice) используется в том случае, когда лицо или предмет, выраженное подлежащим, совершает действие. Слово «активный» произошло от «active», что значит «действующий», поэтому данный тип залога также называют действительным. 
Yesterday I lost my wallet. Вчера я потерял свой бумажник. 
Tomorrow I am meeting my friend at the airport. Завтра я встречаю своего друга в аэропорту. 
We drink coffee every morning. Мы пьем кофе каждое утро. 
Подлежащее в этих предложениях является «инициатором» действия.
Видо-временные формы английского глагола в активном залоге приведены в таблице.
Active Voice
	 
	Simple
	Continuous 
	Perfect
	Perfect Continuous

	Present
	 I call
	I am calling
	I have called
	I have been calling

	Past
	I called
	I was 

calling
	I had called
	I had been calling

	Future
	I will call
	I will be calling
	I will have

called
	I will have been 

calling


Пассивный (страдательный) залог (Passive Voice)  используется в случаях, когда над предметом - подлежащим совершается действие со стороны дополнения. Часто дополнение может только подразумеваться, не будучи представленным в предложении. Пассивная форма чаще всего встречается в научной литературе, но также используется в следующих случаях: если действующий предмет неизвестен или нет возможности его выразить, если автор акцентирует внимание не на действующем предмете, а на объекте, на который направлено действие.
Образование пассивного залога.
Для того чтобы образовать форму глагола в пассивном залоге, употребляется вспомогательный глагол to be в соответствующем времени, лице и числе и причастие прошедшего времени (Participle II) основного (смыслового) глагола.
Young trees will be planted next spring. Молодые деревья будут посажены будущей весной.

The message has been sent. Сообщение отправлено.
Следует отметить, что пассивных конструкций не существует для времени Future Continuous – вместо него используется Future Simple, и для времен Present Perfect Continuous, Past Perfect Continuous и Future Perfect Continuous – вместо них используется Present Perfect, Past Perfect и Future Perfect соответственно.

Passive Voice
	 
	Simple 
	Continuous
	Perfect
	Perfect Continuous

	Present
	am/is/are called
	am/is/are being called
	have/
has been called
	–

	Past
	was/were called
	was/were being called
	had been called
	–

	Future
	will be called
	–
	will have been called
	–


Действующее лицо, которым выполняется действие, в предложениях с пассивным залогом вводится предлогом by:
Wheat was harvested by the farmers in time. Урожай пшеницы был убран фермерами вовремя.

Shafts are turned with cutters. Валы обтачиваются резцами.
Дополнение с предлогом by часто отсутствует в страдательном обороте:

This house was built in 1960. Этот дом был построен в 1960 году.
После глагола в страдательном залоге употребляется также дополнение с предлогом with для выражения орудия (инструмента), при помощи которого совершается действие:

The paper was cut with a knife.


Бумага была разрезана ножом.
Отрицание и вопрос в Passive Voice
В отрицательных предложениях частица not ставится после вспомогательного глагола, а если их несколько, то после первого из них:
He has not been seen anywhere. Его нигде не видели.
В вопросительных предложениях вспомогательный глагол (или первый из них) выносится на место перед подлежащим:
Was he invited by his friends?

Он был приглашен своими друзьями?
В вопросительных предложениях с who, whom, which и другими вопросительными словами всегда ставится by/with для указания лица, выполняющего действие.  
Who was the window broken by? Кто разбил окно? 
What was the road destroyed by? Кем была разрушена дорога?

Глагол let в пассивном залоге заменяется на be allowed to. 
He lets me drive his car. Он разрешает мне водить его машину. 
I am allowed to drive his car. Мне разрешается водить его машину.
Различия в употреблении Active и Passive Voice
 Active Voice определяет действие, исходящее от лица или предмета. Например, I cleaned a swimming pool. Я почистил бассейн.

Passive Voice определяет действие, направленное на лицо или предмет. Сравните: The swimming pool was cleaned by me.  Бассейн был мной почищен.

Сказуемые в обоих предложениях: Buy – was bought указывают на то, что активный и пассивный залоги имеют морфологические различия.

В сравнительных формах слова, которые являются подлежащими в активном залоге, становятся дополнениями в пассивном, а дополнения, наоборот, выполняют роль подлежащего, то есть меняются местами.
Сопоставление действительного оборота с параллельным ему страдательным оборотом показывает следующее:

а) дополнение действительного оборота служит подлежащим в страдательном обороте;

б) глаголу в действительном залоге соответствует глагол в страдательном залоге в том же времени;

в) подлежащее действительного оборота служит в страдательном обороте дополнением с предлогом by, соответствующим в русском языке дополнению в творительном падеже (отвечающему на вопросы кем? чем?).

Сказуемому действительного оборота, выраженному сочетанием одного из модальных глаголов can (could), may (might), should, ought, to have, to be с инфинитивом действительного залога, соответствует в страдательном обороте сочетание того же модального глагола с инфинитивом страдательного залога.

Существует ряд глаголов, которые не употребляются в пассивном залоге. Они называются непереходными: в предложении после них не следует прямое дополнение (объект, на который переходит действие). I live in Moscow. – Я живу в Москве. Глагол live непереходный, его нельзя употребить в форме пассивного залога.
Способы перевода страдательных оборотов 
на русский язык
Пассивный залог в зависимости от своей структуры может переводиться с помощью неопределенно-личной формы глагола (He was written about in local newspaper. О нем написали в местной газете.), предложением в активном залоге (The Apple company was found by Steve Jobs. Компанию Apple основал Стив Джобс), конструкцией с глаголом «быть» (в соответствующем времени, лице и числе) + страдательное причастие в краткой форме (The lunch was cooked by chef. Ланч был приготовлен шеф-поваром.), глаголами с возвратной частицей -ся (The key was found. Ключ нашелся).
Иногда английский страдательный оборот можно перевести двумя или даже всеми тремя способами в зависимости от соответствующего русского глагола и контекста.

Поскольку для каждого действительного оборота со сказуемым, выраженным переходным глаголом, можно построить параллельный страдательный оборот, распространенной ошибкой является употребление страдательных оборотов вместо действительных. Следует иметь в виду, что страдательные обороты, механически употребленные вместо действительных, звучат, как и соответствующие им страдательные обороты в русском языке, неестественно. Сравните:

English books are taken by my son from the library. Английские книги берутся моим сыном в библиотеке.

My son takes English books from the library. Мой сын берет английские книги в библиотеке.

Как и в русском языке, страдательные обороты употребляются в тех случаях, когда лицо, совершающее действие, неизвестно или когда считают ненужным его упомянуть. Мысль, выраженная таким страдательным оборотом, не может быть выражена действительным оборотом ввиду отсутствия лица, совершающего действие, которое могло бы служить подлежащим действительного оборота.
Task 1. Translate the sentences into Russian and              determine the Tense and the Voice of the verbs:
1. Engines are divided into types according to the duration of the cycle on which they operate.

2. The gaseous products will provide the energy in the engine.

3. Fuel pumps and injection nozzles were used in diesel engines.

4. The heat engine was converting heat energy to mechanical energy.

5. By that moment air will have been compressed in the cylinder to a high pressure and temperature.

6. This engine has been built to operate on a definite cycle.
7. Now a gaseous mixture is being compressed in the cylinder by the piston.
8. Rudolf  Diesel obtained patents in Germany in 1892.
9. Motors will be controlled by electronic components.
10. The internal-combustion engines of cars, motorcycles, airplanes, farm tractors and motor boats belong to the class of prime movers.

Task 2. Change Active to Passive in the following           sentences:
1. Gasoline engines mix the fuel and air in a carburetor.

2. They were discussing this project for the whole week.

3. People had invented a lot of new devices by the end of the 19-th century.

4. Ships and locomotives require an independent source of power.

5. This type of engine is producing power by burning diesel oil.

6. Farmers bought new agricultural machines for field work.

7. The designers have found a structural solution of the problem.

8. Their department will demonstrate this invention at the exhibition in September.

9.  Gasoline engines must use volatile fuels.

10. Our company will have obtained a new equipment before we reconstruct the workshop.
Section 2. Vocabulary and word study
Active Vocabulary. Text A
engine (n) – двигатель
We know different kinds of engines: steam engine, gasoline engine, diesel engine.

to propel (v) – двигать
Jet engines propel the rockets.

vehicle (n) – средство передвижения (автомобиль, вагон, повозка и т.д.) летательный аппарат

Motorcycles, airplanes, motor boats are all mechanically propelled vehicles.

mobile (adj) – подвижной, мобильный
The new car was very light, comfortable and mobile.
unit (n) – агрегат, секция, блок, узел, элемент

Wind tunnel fan is a very powerful unit.

to belong to (v) – принадлежать, относиться к ч-л 

It doesn’t belong to the subgroup of internal combustion engines.

prime-mover (n) – первичный двигатель
The steam engine was the prime- mover of all high-speed engines ever invented.

internal-combustion engine (v) – двигатель внутреннего сгорания

Internal-combustion engines as all other engines turn heat energy into motion.

to divide (v) – делить, разделять
The designers divided the process into several phases.

piston (n) – поршень
The piston compresses the fuel mixture.

stroke (n) – ход поршня, удар
Combustion engines can be divided into several types according to the number of strokes.

to ignite (v) – зажигать, воспламенять
As an engine wasn’t in order, ignition didn’t occur.

to vaporize (v) – испарять, выпаривать
When heated water vaporizes into the atmosphere.

admission (n) – доступ, впуск
The admission stroke didn’t take place because of the broken valve.
expulsion (n) – выхлоп, выпуск, продувка
The expulsion of used gases is the last phase in the cycle of internal-combustion engine.

Task 1. Complete the following sentences with the words from the list.
To ignite, to complete, volatility, cycle, vehicles, expand,    belong to.
1. This unit doesn’t … the steam engine.

2. Divide all … according to the types of engines used.

3. The succession of operations is a … .

4. When heated all objects … .

5. Some chemical substances have such a feature as … .

6. … something means to burn something.

7. To report about the results, scientists have to … the experiment.

Task 2. Choose the correct answer to complete each statement.

1. As the … moves, it compresses the gases.
a) cycle;
b) piston;
c) stroke;
d) engine.
2. The activities that take place in the engine cylinder can be … into four stages.

a) expanded;
b) propelled;
c) divided;
d) completed.
3. The word «stroke» … to the piston movement.
a) refers;
b) inward;
c) mobile;
d) vaporizes.
4. This … will not be used, as the engineers will make some design improvements.

a) stroke;
b) cycle;
c) admission;
d) engine.
5. The … of time did not allow them to increase the flexibility of the design model.

a) advantage;
b) prime-mover;
c) lack;
d) intermittent.
6. A spark … a mixture of gasoline vapor and air.

a) vaporizes;
b) ignites;
c) belongs to;
d) divides.
7. Steam engine was the first … ever invented.
a) vehicle;
b) prime-mover;
c) internal-combustion engine;
d) unit.
Task 3. Choose the synonymous pairs of words from your vocabulary list.
	to move
	admission

	to part
	to ignite

	phase
	lack of

	to finish
	to divide

	shortage
	cycle

	to burn
	to propel

	intake
	to complete


Task 4. Choose the antonyms to the words from vocabulary list.
	stable

		                 internal


	begin

		                 expulsion


	оutward
		                 advanta

	e


	disadvantage

		                 flexibility


	excess

		                 lack


	rigidity

		                 inward


	external

		                 complete


	admission

		                 mobile



	


Task 5. Translate the following «chains» of nouns.

Road vehicle, farm tractors, motor boats, heat engines, combustion engines, piston stroke, engine cylinder, fuel economy, air charge, horse power.
Section 3. Reading and speaking
Task 1. Skim the text. 
Begin your answer with the words: «This text is about…»
Task 2. Read the text below and find the answers to the following questions.
1. What class and subdivision do the engines of practically all mechanically propelled vehicles belong to?

2. What is meant by the term «cycle»?

3. How may combustion engines be divided?

4. What can you say about the duration of the cycle?

5. What are the advantages of a two-stroke engine?

6. What can you say about six-cycle engine?

7. What are the main phases of the four-stroke engine?

TEXT A
INTERNAL-COMBUSTION ENGINES
The engines of practically all mechanically propelled road vehicles, motorcycles, airplanes, farm tractors, motor boats, and mo-

bile industrial units belong to the class of prime movers known as heat engines, and to the subdivision of «internal-combustion engines». Combustion engines may be divided into types according to the duration of the cycle on which they operate, in terms of piston strokes. By a cycle is meant the succession of operations in the engine cylinder which constantly repeats itself. The great majority of modern automotive engines operate on the four-stroke cycle, usually referred to as Otto cycle, which is completed in four strokes of the piston, or during two revolutions of the crankshaft. Engines are also being built to operate on a cycle which is completed in two piston strokes. In this cycle a combustible gaseous mixture is compressed in the cylinder during the outward stroke of the piston and burned and allowed to expand during the following inward stroke. Two-stroke engines are used only in small units, and generally in applications where the operation is quite intermittent. Their chief advantage is low first cost; their disadvantages are low fuel economy and lack of flexibility.

A few engines have been built to operate on a six-stroke cycle, which has certain advantages where fuel is of low volatility is to be used. Four of the six strokes of this cycle are used for the same operations as in the four-stroke cycle; during the remaining two strokes the combustible mixture is retained in the cylinder without being ignited, to give a fuel a better chance to vaporize and to diffuse uniformly throughout the air charge. Six-cycle engines have never reached a practical stage, and of all of the high-speed combustion engines in use today that operate on volatile fuels, more than 99 per cent of the total horse power undoubtedly work on the four-stroke cycle. The four-stroke cycle comprises the following four phases or operations, which succeed one another in order in which they are given:

Admission of the charge to the cylinder.

Compression of the charge.

Combustion of the charge (which includes its ignition and expansion).

Expulsion of the products of combustion.
Task 3. Choose the correct answer to complete each statement.
1. Combustion engines can be divided into types according to:

a) the number of cylinders;

b) the duration of the cycle;

c) the combustion inside the cylinder;

d) the expulsion of the combustion products.

2. The majority of modern engines operate on:

a) two-stroke cycle;

b) six-stroke cycle;

c) complete cycle;

d) four-stroke cycle.

3. The advantages of a two-stroke engine are:

a) low first cost;

b) low fuel economy;

c) lack of flexibility;

d) high productivity.
4. The fuel of low volatility is used in:

a) two-stroke engines;

b) six-stroke engines;

c) all engines;

d) four-stroke engines.

5. Six-cycle engines:

a) are widely used;

b) are not used at all;

c) have not reached the practical stage;

d) have very limited use.

6. The four-stroke cycle comprises four phases which:

a) proceed other phases;

b) succeed one another;

c) are simultaneous;

d) divide each other.
Task 4. Match the definitions in column B with the terms in column A.
	A
	B

	1. cycle
	a) is the class of prime-movers

	2. four-stroke cycle
	b) is the succession of operations in the engine cylinder

	3. phases
	c) is the four strokes of the piston

	4. heat engine
	d) are operations which succeed

 one another


Task 5. Translate the following sentences paying attention to the Passive Voice.
1. The rotary motion is transmitted to the car wheels.

2. If the ignition system produces a spark, the mixture will be ignited.

3. Nearly all transport air-lines are equipped with air-cooled engines.

4. The mixture of gasoline vapor and air is ignited by a spark.

5. In recent years many non-metallic materials have been widely used in engineering.

6. Many kinds of heat engines are used in various types of machines.

7. Heat energy is converted into mechanical energy by a steam engine.
8. The basic moving parts of a simple four-cycle diesel engine are shown in a diagram.

9. The diesel is built heavier because it must withstand higher pressures.

Task 6. There are sentences in Passive Voice in the second and the third paragraphs of the text. Find and translate them.

Task 7. Answer the following questions.

1. What mechanically propelled road vehicles are mentioned in the text?

2. How are combustion engines divided?

3. What is the cycle?

4. What does the four-stroke cycle mean?

5. What does the two-stroke cycle mean?

6. What are the advantages and disadvantages of a two-stroke engine?

7. What are the remaining two strokes of a six-stroke cycle used for?

8. What can you say about the use of six-cycle engines?

9. What are the phases of the four-stroke cycle?

Vocabulary. Text B
	to notice
	замечать, обращать внимание

	in many respects
	во многих отношениях

	to run
	работать, приводить в движение

	to produce
	производить, вырабатывать

	to distinguish
	различать, распознавать

	to require
	требовать

	to heat (heat)
	нагревать, (тепло)

	to draw
	втягивать


Task 8. Read and translate the following «chains» of words.
Gasoline engine, suction stroke, exhaust stroke, compression stroke, power stroke, ignition system, spark plug, inlet valve,                compression ratio, fuel-air mixture, liquid fuel, fuel pump, injection nozzles.
Task  9. Skim the text. 
Answer the question: «What is this text about?»
TEXT B 
HOW DIESEL ENGINES DIFFER FROM GASOLINE    ENGINES
If you know something about ordinary gasoline engine, such as those in automobiles, you will have noticed that diesel engines, in many respects, work in the same way.

Both types of engines run on liquid fuels. Gasoline engines have been made to run on kerosene, and so have diesel engines. Gasoline, kerosene, and diesel oil are all produced from natural petroleum (crude oil), and are distinguished mainly by their volatility, i.e. the ease with which they can be changed from a liquid to a vapor. Gasoline is quite volatile, i.e. it evaporates at a low temperature. Kerosene needs more heat to make it vaporize, while diesel oil requires still more heat.

Both types of engines are internal-combustion engines, i.e. they burn the fuel inside their cylinders. Most gasoline engines and many diesel engines work on the four-stroke cycle, i.e. the piston makes a suction (down), a compression stroke (up), a power stroke (down), and the exhaust stroke (up).

What, then, are the main differences between diesel engines and gasoline engines?

FIRST. A diesel engine has no ignition system – it has no spark plug. None of this is needed on a diesel engine because the fuel is ignited simply by the contact with very hot air which has been highly compressed in the cylinder.
SECOND. A diesel engine draws into the cylinder air alone, and it compresses this air on its compression stroke before any fuel enters the cylinder. On the other hand, a gasoline engine mixes air with fuel in the carburetor outside the cylinder before it enters the engine through the inlet valve during the suction stroke.

THIRD. Diesel engines use greater compression than gasoline engines. In a gasoline engine, the amount of compression or compression ratio is strictly limited because fuel, as well as air, is being compressed. If the combustible fuel-air mixture is compressed too much, it gets so hot, that it will ignite by itself. In other words the mixture will pre-ignite before the piston has completed its compression stroke, and will try to stop the piston.

The compression in a diesel engine is not limited by the possibility of pre-ignition because the diesel engine compresses air only.

FOURTH. Diesel engine use less volatile, heavier liquid fuels than gasoline engines. These heavier fuels are generally cheaper than gasoline. Gasoline engines must use this highly volatile fuels because only a fuel which evaporates at low temperature will form a uniform mixture with the rapid current of air flowing through the carburetor.

FIFTH. Diesel engines use fuel pumps and injection nozzles to inject the oil into the cylinder in the form of a fine spray. Gasoline engines, on the other hand, mix the fuel and air in a carburetor.

SIXTH. Diesel engines are heavier than gasoline engines of the same size because they work against greater pressure, and consequently their parts must be stronger. The greater strength is obtained by making the parts thicker and therefore heavier.

Task 10. Find in the text the common features of gasoline and diesel engines.

Task 11. Read the second paragraph of the text and       answer the following questions.
1. What is the common feature of all kinds of fuels?

2. What kinds of fuel are mentioned in the paragraph?

3. How are the fuels distinguished?
4. What is volatility?
a. The change from a solid to a liquid.

b. The change from a liquid to a gas.

c. The change from a liquid to a vapor.

Task 12. Find in the text all the features that differ diesel engines from gasoline engines.

Task 13. Read the text again and explain the meaning of the term «pre-ignition».

Task 14. Study the terms and find the meanings of them in the dictionary.
Inlet valve, exhaust valve, rod, crankshaft, bearing, fresh air, to descend, top, bottom, to deliver, oil spray, spent gases, to release, to force. 
Task 15. Read and translate the following text without a dictionary.
TEXT C

WHY DO WE CALL IT A «DIESEL» ENGINE?

You have learned earlier in this chapter that a diesel engine is one form of internal-combustion engine, the latter being an engine from which work is obtained by the combustion of fuel within the engine cylinders themselves. 

A diesel engine is that type of engine which injects fuel oil in a finely divided state into a cylinder within which air has been compressed to a high pressure and temperature. The temperature of the air is high enough to ignite the particles of the injected fuel; no other means are used for ignition. Because of this method of ignition, diesel engines are sometimes called compression-ignition engines. This insets them apart from other internal-combustion engines called spark-ignition engines. These latter engines use gasoline or gas as fuel, and the mixture of fuel and air is ignited by an electric spark.

So, why do we call this compression-ignition engine by the name «diesel»? Simply because a man whose name was Rudolf Diesel originated in Germany and obtained patents in 1892 on a high-compression, self-ignition engine originally intended to burn powdered coal.
Task 16. Find the statements mentioned in the text.

1. The temperature of a compressed air is very high, that is why it ignites the particles of the injected fuel.

2. Internal-combustion engines may use gas as a fuel.

3. Diesel engines are employed in a great many kinds of stationary power plants.

4. Diesel engine is a form of internal-combustion engines.

5. Many diesels look like gasoline engines.

6. Diesel engines are sometimes called spark-ignition engines.

7. High-compression, self-ignition engine intended to burn liquid fuel.

8. The diesel is built heavier because it must withstand higher pressures.

9.  Compression ignition engine was named after Rudolf Diesel.

10. Internal-combustion engine was patented in 1892.

11. A spark plug is used in a diesel engine for ignition.
UNIT 2. AUTOMOBILES

Section 1. Grammar

Модальные глаголы (Modal Verbs)

Глаголы can, may, must, should, ought, need относятся к группе модальных глаголов (Modal Verbs). Модальные глаголы употребляются в сочетании с инфинитивом смыслового глагола. Они обозначают возможность, способность, вероятность, необходимость совершения действия, выраженного смысловым глаголом. 
Не can do it himself. Он может сделать это сам. 

They may come tonight. Они, может быть, придут сегодня вечером.

Модальные глаголы не выражают конкретного действия, а показывают лишь отношение говорящего к действию, оценку действия, т. е. возможность, необходимость, предположительность, долженствование, разрешение и т. д. 
Для правильного употребления модальных глаголов необходимо различать модальные категории:
Способность
Главный выразитель физических, умственных и иных способностей для выполнения действий – глагол can, который переводится на русский язык в значении «могу, умею».

We can speak Spanish well. Мы хорошо умеем говорить по-испански.
Он не изменяется по лицам и числам. Кроме того, can самостоятельно, без вспомогательных глаголов, создает вопросы и отрицания.

Can she write verses? Она умеет писать стихи?
My children can’t read yet. Мои дети еще не умеют читать.
В прошедшем времени форма could так же употребляется во всех лицах всех. Иногда ее заменяют сходным по значению managed (удалось). Для образования будущего времени применяют эквивалент to be able to (быть в состоянии).

Next year I will be able to speak Polish fluently. В следующем году я смогу бегло говорить по-английски.
Формальные возможности, просьбы и разрешения

Формальные возможности, то есть возможности, связанные с внешними обстоятельствами, выражаются may и его формой прошедшего времени might. Он переводится как «мочь», но в значении разрешения и возможности, близком к своему синониму to be allowed to (быть позволенным). 

We may play football on Friday. Мы можем сыграть в футбол в пятницу.
Часто можно встретить использование may в вопросительной форме в качестве просьбы.

May Jack visit us? – Можно Джек навестит нас?
Часто для выражения просьбы  используется глагол can. 
Can I speak to Jane? Могу я поговорить с Джейн?
Необходимость, запреты, предположения и советы

Категоричную необходимость выражает модальный глагол must. Он выражает долженствование, определенное человеком для себя самостоятельно, т.е. это не внешнее давление, а принятие решения по личным мотивам и принципам.

I must go home. Я должен пойти домой.
В отрицательной форме данный глагол играет роль строгого запрета, практически приказания.

You mustn’t  talk that way with your parents. Ты не должен говорить со своими родителями в таком тоне.
Must не образует будущее и прошедшее время. Эти формы образуются при помощи эквивалентов be to/ have to. 
Основное назначение have to – указание на вынужденную необходимость совершения действия, т.е. на внешние обстоятельства.

We had to make the report yesterday. Мы должны были сделать этот отчет вчера.
She has to go to the office on Saturday.  Она вынуждена пойти в офис в субботу.
Do I have to make this report? Я должен сделать этот отчет?
Оба глагола также используются для выражения предположений, но must употребляют в этой роли чаще, чем have to. В переводе на русский язык это значение выражено вводным сочетанием «должно быть».

It must be true. Это, должно быть, правда.
Если необходимость и долг возникли в результате предварительной договоренности, то используется эквивалент be to. Он изменяется по числам и лицам, и означает «должен, обязан», предполагая предварительную договоренность.

The driver is to meet you at 3 o’clock. Водитель должен встретить тебя в 3 часа.
Эта форма может применяться в прошедшем и будущем времени, причем в конструкции будущего to be заменяется на to have.

The guide will have to meet this delegation next Monday – Экскурсовод должен встретить эту делегацию в следующий понедельник.
Настоятельный совет выражают глаголы should и ought to. У них одна форма, поэтому они употребляются только в настоящем времени.

You ought to help your little brother.  Тебе следует помогать младшему брату.
Modal Verbs

	Present
	Эквиваленты
	Past
	Future

	Can
	be able to
	сould
	will be able to

	May
	be allowed to
	might
	will be allowed to

	Must Should
Ought
	be to/have to
	was to

were to

had to
	will be to

will have to


Примечание. При помощи эквивалентов может образовываться любая временная форма модальных глаголов. При этом глаголы to be и to have употребляется в личной форме Present, Past или Future Simple.
You can come today=You are able to come today.

You could come yesterday=You were able to come yesterday.

You will be able to come tomorrow.
Личные формы глагола to be
	 Present
	       Past
	      Future

	I am
	We are
	I was
	We were
	I will be
	We will be

	You are
	You are
	You were
	You were
	You will be
	You will be

	He

She    is

It
	They are
	He

She was

It
	They were
	He

She  will be

It
	They will be


В Present Simple глагол have to имеет две формы: для 3 лица ед.ч. – has, для остальных лиц – have. Вопросы и отрицания строятся при помощи вспомогательных глаголов do/ does. 
Do you have to meet her at the station? Вам надо встретить ее на вокзале? 

В Past Simple используется форма had to и вспомогательный глагол did соответственно, во Future Simple – форма will have to, при этом вспомогательный глагол will ставится на первое место в вопросительном предложении. 

Отрицательная форма модальных глаголов образуется при помощи частицы not, которая ставится непосредственно после модального глагола. В настоящем времени can пишется слитно с not.

He cannot do it. You may not take it. He must not go there. 

Также в отрицательной форме часто употребляются сокращения, например: can’t, couldn’t, mustn’t, needn’t и др. 
В вопросительных предложениях модальный глагол стоит на первом месте либо сразу после вопросительного слова. 

 Can I help you? Могу я вам помочь?

 Who can do it? Кто может это сделать?
Отличительные свойства модальных глаголов
1) Не имеют окончания –s в 3-м лице единственного числа настоящего времени. He can do it. He may take it. He must go there. He ought to help him. Need he do it?

2) Не имеют неличных форм (инфинитива, герундия и причастия)

3) Не употребляются как отдельный член предложения –  простое глагольное сказуемое, но только в сочетании с еще одним, не модальным, глаголом в форме инфинитива без частицы to (кроме ought и иногда need), образуя составное глагольное сказуемое. I must go there. Я должен пойти туда. You needn't do it. Вам не нужно делать этого. Но: You ought to help him. Вам следовало бы помочь ему.
4) Вопросительная и отрицательная формы модальных глаголов образуются без вспомогательного глагола: в вопросительных предложениях модальный глагол ставится перед подлежащим, в отрицательных  – после него ставится отрицание not. Can you do it? May I take it? Must he go there? Ought he to help him? Need he do it? He oughtn’t to help him. He needn’t do it. 

5) Не имеют формы прошедшего времени кроме can (could), may (might) и аналитических форм (будущего времени, продолженного вида, перфектных форм и форм страдательного залога). В случае необходимости вместо отсутствующих форм используются эквиваленты модальных глаголов

Task 1. Translate the sentences into Russian paying attention to the Modal Verbs and their equivalents.
1. The first automobile could run at maximum speed of four miles. 2. The driver had to stop quickly to avoid an accident.

3. Engineers have to invent a new device functioning as a speed limit indicator.

4. Statistics can show that many accidents take place while overtaking.

5. Engineers will be able to design a new car body at the end of the next month.

6. Producers might use veteran cars for their films.

7. The reporter should mention trucks as main heavy vehicles.

8. Our mechanics will not be able to repair your car so quickly.

9. Today the police was to fine some drivers for speeding.

10. The policemen must stop the car and escort it to the police station, if it is necessary.
Task 2. Use the equivalents of Modal Verbs and rewrite the sentences in Present, Past and Future.
1. In this place a vehicle may cover 60 miles in 1 hour.

2. The investments should flow into automobile industry.

3. You may park your car only at parking places.

4. Drivers must not break the rules of the road.

5. He couldn’t move an old truck.

6. American cars can consume more petrol, than European ones.

7. After paying the fine for incorrect parking he might take his vehicle.

8. You mustn’t speak on the telephone, when you are at the wheel. 9. Car owners must pay tax every year.

10. A car should function well.
Section 2. Vocabulary and word study

Active Vocabulary. Text A
self-propelled (adj) – самодвижущийся
Most of our vehicles are self-propelled.

steam (n) – пар

When water is heated it changes into steam.

wheel (n) – колесо

Wheel is one of the most important invention of a man.
Achievement (n) – достижение

The achievements in this sphere of life were great.

to supply (v) – снабжать, обеспечивать

This river supplies the whole region with water.

to last (v) – длиться, служить

Diesel engines last much longer.

restriction (n) – ограничение

The restrictions resulted in the slow development of this branch of industry.

to result from (v) – являться результатом ч-л., приводить 
к ч-л.
High speed resulted from a very good aerodynamic design of the automobile.

to outlaw (v) – объявлять вне закона

Cars were outlawed in many cities.

application (n) – применение, использование

The worldwide application of gasoline engines resulted in   rapid development of automobile industry.

to perfect (v) – совершенствовать, улучшать, выполнять
Engines were perfected from steam to gasoline ones.

procession (n) – пробег 
The international procession of trucks took place in a desert region.

reliable (adj) – надежный

New car models are very reliable and comfortable.

to repair (v) – ремонтировать

Further along the road was a new repair station.

to fill (v) – заполнять , наполнять
We had to stop at the filling station to refill the tank.

brakes (v) – тормоза

The driver pushed the brakes but the car didn’t stop.

to abolish (v) – устранять, отменять, упразднять

All speed limits were abolished after the reconstruction of this road.
rare (adj) – редкий
The rare models of the automobiles can be seen in private collections or museums.
value (n) – цена, стоимость
Rare models of the cars have not only historical but practical value as they can be used in films.

to fine (v) – штрафовать

A great number of the drivers are fined by the police for speeding.

Task 1. Complete the following sentences with the words from the list.

Restrictions, repair, wheel, supply, result in,  brakes, lasted.
1. A principle difference is made between traveling … and driving … .

2. The fuel … is automatically interrupted.

3. The front and rear … on the car have individual hydraulic control.

4. The replacement of the flat tire … for 5 minutes.

5. There are truck … in the town streets.

6. The work of three American manufactures … the construction of the safest-possible car.

7. The motorist must not be helpless and be able to make quick … .
Task 2. Cross out the word that is wrong.
1. The larger cars are extremely comfortable and reliable / crowded.

2. The driver is responsible for the repair / traffic of his car.

3. Check your wheels /brakes and your brakes check you.

4. The driver is reliable /safer when the road is dry. The road is safer when the driver is wet / dry.

5. The average value / time to a train to pass this crossing is 4 seconds, whether your car is on it or not.

6. In India there must be an electric lamp on every elephant. Those who do not want to do it have to pay a ticket / fine.

7. Accidents often result in / result from carelessness.
Task 3. Read and translate the following words:
Combination, to construct, engineer, passenger, maximum, mile, extremely, inefficient, yard, minute, progress, opposition, result, limit, front, local, instruction, to escort, police, station, cycle, cylinder, motorist, to serve, to standardize, component, product, capital, automobile, antique, rarity, historical, photograph, pioneer.

Task 4. Read and translate the following «chains» of nouns.
Motor car, steam engine, Red Flag Act, police station, gasoline engine, repair station, filling station, automobile industry, veteran car, Veteran Motor Car Club.
Section 3. Reading and speaking
Task 1. Skim the text and answer the question: «What is this text about?»
Task 2. Read the text and find the answers to the following questions.
1. Who built a steam-driven engine and how did it look like?

2. Why was it very inefficient?

3. Did a steam engine built in Great Britain differ from the one built by engineer Cugnot?

4. What can you say about the restrictions of legislative act and what did it result in?

5. Prove that in Russia motor cars were outlawed in some cities.

6. When did the period of application of gasoline engines to motor cars begin?

7. Who introduced the four-stroke cycle of operation in a gasoline engine?

8. Describe the cars that took part in a procession from London to Brighton.

9. When did the huge capital begin to flow into the automobile industry?

10. Show the development rate of automobile industry
TEXT A

THE EARLY DAYS OF THE AUTOMOBILES
The first self-propelled vehicle was constructed by the French military engineer Cugnot in 1763. He built a steam-driven engine which had three wheels, carried two passengers and ran at maximum speed of four miles. The carriage was a great achievement but extremely inefficient. The supply lasted only 15 minutes and the carriage had to stop every 100 yards to make more steam.

In 1825 a steam engine was built in Great Britain. The vehicle carried 18 passengers and covered 18 miles in 45 minutes. However, the progress of motor cars met with great opposition in Great Britain. Further development of the motor car lagged because of the restrictions resulting from legislative acts. The most famous of these acts was the Red Flag Act of 1865, according to which the speed of the steam-driven vehicle was limited to 4 miles per hour and a man with a red flag had to walk in front of it.

In Russia there were cities where motor cars were outlawed altogether. When the editor of the local newspaper in the city of Uralsk bought a car, the governor issued these instructions to the police: «When the vehicle appears in the streets, it is to be stopped and escorted to the police station, where its driver is to be prosecuted».
From 1860 to 1900 was a period of application of gasoline engines to motor cars in many countries. The first to perfect gasoline engine was N. Otto who introduced the four-stroke cycle of operation. By that time motor cars got a standard shape and appearance.

In 1896 a procession of motor cars took place from London to Brighton to show how reliable the new vehicles were. In fact, many of the cars broke, for the transmissions were unreliable and constantly gave trouble. The cars of that time were very small, two-seated cars with no roof, driven by an engine placed under the seat. Motorists had to carry large cans of fuel and spare tyres, as there were no repair or filling stations to serve them.

After the World War I it became possible to achieve greater reliability of motor cars, brakes became more efficient. Constant efforts were made to standardize common components. Multi-cylinder engines came into use, most commonly used are four-cylinder engines.

Like most other great human achievements, the motor car is not the product of only single inventor. Gradually the development of vehicles driven by internal-combustion engine cars led to the abolition of earlier restrictions. Huge capital began to flow into the automobile industry.

From 1908 to 1924 the number of cars in the world rose from 200 thousand to 20 million; by 1960 it had reached 60 million. No other industry had ever developed at such rate.

There are about 3,000 Americans who like to collect antique cars. They have several clubs, such as Antique Automobile Club and Veteran Motor Car Club, which specialize in rare models. But the best collection – 100 old cars of great rarity – is in possession of William Harrah. The value of his collection is not only historical but also practical: photographs of his cars are used for films and advertisements.

In England there is the famous «Beaulieu Motor Museum» – the home for veteran cars. The founder of the Museum is Lord Montague, the son of one of England’s motoring pioneers, who opened it in 1952 in memory of his father.

Lord Montague’s father was the first person in England to be fined by the police for speeding. He was fined 5 pounds for going faster than 12 miles per hour.
Task 3. Read and translate line by line paragraphs 9 and 10 of the text and give the title to these paragraphs.

Task 4. Choose the correct answer to the statements.
1. To make more steam the engine of engineer Cugnot

a) had to stop very often;

b) had to use more gasoline;

c) had to run at maximum speed.

2. The progress of motor cars in Great Britain
a) developed the car industry;

b) met with opposition;

c) lasted about 15 years.
3. In some cities of Russia the motor cars

a) were quickly developed;

b) were restricted;

c) were outlawed altogether.

4. By the time, when the four-cycle of operation was introduced

a) the car got a standard shape and appearance;

b) the car had a high speed;

c) the car used petrol as a fuel.

5. A procession of motor cars in 1896

a) showed new models of the automobiles;

b) tested new fuel;

c) showed the reliability of the car.

6. The motor car is the product of

a) a single laboratory;

b) a single inventor;

c) many inventors and engineers.
Task 5. Read the sentences paying attention to the                   translation of the construction: to be, to have  + to V.
1. The motor car had to stop every hour to refill the tank.

2. The engineers had to achieve greater reliability of the machinery during the war.

3. Four-cylinder engines are to be used almost in all cars.

4. The automobile industry has to develop at high rate.

5. Antique cars have to be in museums, as they have not only historical but also practical value.

6. Newer cars have to be lighter and more comfortable.

7. Four-cylinder engine is to be standard on most cars, but many family-sized cars are to be equipped with diesel engines.

8. The speed of the steam-driven vehicle is to be limited to 4 miles per hour.
Vocabulary. Text B
	trackless
	безрельсовый

	self-propelled
	самоходный

	lorry (truck)
	грузовой

	framework
	каркас

	to distinguish
	различать

	to differ
	отличаться

	horse-power
	лошадиная сила

	wheelbase
	колесная основа


	weight
	вес

	cooling system
	система охлаждения

	to refer
	относиться

	top
	верхний

	dead centre
	мертвая точка

	bottom
	днище


Task 6. Translate the following «chains» of words.

Land transportation, passenger car, horse-power, valve mechanism, ignition system, cooling system, engine cylinder, intake stroke, compression stroke, power stroke, exhaust stroke, piston movement.

TEXT B

COMPONENTS OF THE AUTOMOBILE
Automobiles are trackless, self-propelled vehicles for land transportation of people or goods, or for moving materials. There are three main types of automobiles. These are passenger cars, buses and lorries (trucks). The automobile consists of the following components: a) the engine; b) the framework; c) the mechanism that transmits the power from engine to the wheels; d) the body.

Passenger cars are, as a rule, propelled by an internal combustion engine. They are distinguished by the horse power of the engine, the number of cylinders in the engine and the type of the body, the type of transmission, wheelbase, weight and overall length.

There are engines of various designs. They differ in the number of cylinders, their position, their operating cycle, valve mechanism, ignition and cooling system. 

Most automobile engines have six or eight cylinders, although some four-, twelve-, sixteen-cylinder engines are used. The activities that take place in the engine cylinder can be divided into four stages which are called strokes. The four strokes are: intake, compression, power and exhaust. «Stroke» refers to the piston movement. The upper limit of the piston movement is called top dead centre, TDC. The lower limit of piston movement is called bottom dead centre, BDC. A stroke constitutes piston movement from TDC to BDC or from BDC to TDC. In other words, the piston completes a stroke each time it changes the direction of motion.

Task 7. Answer the questions.
1. What are automobiles?

2. What types of automobiles do you know?

3. How many cylinders have automobile engines?

4. What components does an automobile consist of?

5. What is a passenger car propelled by?

6. How do different designs of engines differ?

7. What is a stroke?

8. What are the four strokes of an engine?

9. What is top dead centre?

10. What is bottom dead centre?

11. When does the piston complete a stroke?
Task 8. Read the text and draw the diagram to describe the accident.

There was a serious accident on one of the main roads into the Stuttgart this morning. An old lorry (truck) broke down in the middle of the road, and the driver couldn’t move it. It was eight o’clock, the middle of the rush hour, so it soon created a terrible traffic jam. Drivers got very angry and a man in Mercedes tried to go round the lorry. Unfortunately another car was coming in the opposite direction. The driver braked hard and tried to stop, but he couldn’t prevent the accident – the Mercedes crashed into the front of his car. The driver of the Mercedes was OK, but the other driver was badly injured and both cars were very badly damaged. 
Task 9. Read the columns of words, translate them and try to remember.
	BUS
	TRAIN
	PLANE
	TAXI
	BICYCLE
	CAR

	driver
	driver
	pilot
	driver
	cyclist
	driver

	drives
	drives
	flies
	drives
	rides
	drives

	fare
	fare
	air fare
	fare
	free
	free

	catch/take
	take
	take
	go by
	go by

	get on/off
	get on/off
	get in/out
	get on/off
	get in/out

	bus stop
	rail-     way

station
	airport
	taxi rank
	parking lot
	parking lot


Task 10. Fill the gaps with the correct words.
1. There was a bad accident this morning. One driver died, the other driver was badly … , and both cars were badly … .
2. It was raining, so when I … the car didn’t stop quickly enough, and I … into the back of the car in front.
3. The car … , so I phoned a garage and they sent someone to repair it.

4. There was a terrible … , and that’s why it took me two hours to get home in the car.
5. In the morning, the … starts at about 7 o’clock and goes on until at least 9.30. Then it starts again about 4.30 in the afternoon.
Task 11. Cross out the incorrect word in these sentences.

1. You mustn’t ride/drive a motorbike without a crash helmet.

2. She told him to get in/get on the car and fasten his seat belt.

3. Bus fares/tickets are getting more expensive.

4. The pilot couldn’t drive/fly the plane in such a bad weather.
5. I couldn’t get on/ get in the first bus, because it was full up. 

Task 12. Are these statements TRUE or FALSE in your experience?

1. Trains are more reliable than buses.

2. Train fares are more expensive than bus fares.

3. Train journeys are more interesting than bus journeys.

4. Railway stations are nicer places than bus stations.

5. You get to the place you are going faster by taxi than by car.

Task 13. Find in the text the sentences with the construction: to be/to have + to V. Make up 10 sentences of your own using this model and other equivalents of Modal Verbs.
Task 14. Read and translate the text using a dictionary.
TEXT C

AMERICAN CARS
Americans cars are much larger and heavier than European and Japanese cars, although there is now a big increase in the production of smaller cars. The larger cars are extremely comfortable and relaxing to drive and to be driven in, but they do not generally handle or corner as well as smaller cars. They also consume the colossal amounts of petrol, although there has been a big improvement in this respect in recent years and «economy» cars are taking over from «gas-guzzlers».

You may well encounter gadgets in American cars that you have not had the pleasure of coming across before. These include electric windows and mirrors, and buzzers that tell you that your seat belt is not fastened, that you left your lights on, that you’ve left the keys in the ignition, etc. Your car may be equipped with «cruise control», a device that enables you to free your right foot on long motorway trips (it will keep the car going at a constant speed until you accelerate or brake) and air conditioning (very desirable, though not as absolutely necessary as Americans tell you for desert and other hot driving). In some respects American roads are a good deal better than most European roads. They are, for instance, generally much wider and straighter. In other respects they are worse. The combination of low taxes and (in the north) severe frosts means that even motorways may have amazing pot-holes. There are also, fewer road markings, «cats’ eyes» and so on than Europeans are used to.
Task 15. Choose the answer given bellow to complete each statement.
1. American cars are

a) smaller than European;

b) cheaper than Japanese;

c) larger than European and Japanese;

d) larger and heavier than European and Japanese.

2. American cars are

a) more comfortable to be driven in;

b) extremely uncomfortable;

c) generally not very relaxing;

d) easy to handle and corner.

3. American cars are 

a) «economy» cars;

b) consume much cheap fuel;

c) are «gas-guzzlers»;

d) consume little fuel.

4. American roads are

a) worse than European;

b) wider and straighter;

c) a good deal worse;

d) not very good.

Task 16. Find in the text the information to answer the questions.

1. What does the term «gadgets» include?
2. What is the car equipped with «cruise control» for?

3. What is air conditioning necessary for?

4. What is the reason of amazing pot-holes on the roads and even motorways?

5. What kind of devices are there in passenger compartment?
6. What are gas-guzzlers?
7. Are American roads better or worse, than European ones?

8. What American car models do you know?

9. Which of them is the best one in your opinion?
10. How do you understand the term «cats’ eyes»? 
UNIT 3. TRACTORS
Section 1. Grammar

Participle (Причастие)
Причастие в английском языке – это неличная форма глагола, обладающая в равной степени признаками глагола, прилагательного и наречия. Всего выделяются два типа: причастие первое (или настоящего времени) и причастие второе (прошедшего времени).
Participle I (причастие первое) – это причастие в английском языке, называемое также Present Participle. Хотя Present Participle грамматически относится к настоящему времени, оно может выражать различные отношения в зависимости от контекста и времени, в котором стоит смысловой глагол. Причастие первое подразделяется на два типа: простое (Simple) и совершенное (Perfect). В первом случае имеется сходство с русским деепричастием несовершенного вида: doing – делающий, resting – отдыхающий. Во втором случае форму глагола можно назвать аналогом русского деепричастия совершенного вида: having written – написав, having finished – закончив. 
Сложные формы Participle I
	Формы
причастия I
	Active
	Passive

	Simple
	inviting
приглашающий
приглашая
	being invited

приглашаемый

будучи приглашенным

	Perfect
	having invited

пригласив
	having been invited

после того, как приласили                  когда пригласили


Present Participle Simple образуется путём добавления к инфинитиву глагола окончания –ing, например,  go – going; write – writing; sit – sitting (в некоторых случаях последняя гласная удваивается); lie – lying («i» меняется на «y», если «y» стоит в слове после согласной буквы). Present Participle Perfect образуется следующим образом: инфинитив глагола have с окончанием -ing + 3 форма глагола. Например: having written, having gone, having decided и т. п. 
Употребление Participle I
Present Participle Simple используется во многих случаях, обладая следующими свойствами: 
1) Выражает действие, одновременное с основным. 

Walking along the beach, I see birds. Гуляя по пляжу, я вижу птиц. 
2) Выражает действие, произошедшее сразу перед другим. 
Finishing the work, they left quickly. Завершив работу, они быстро ушли. 
3) Характеризует подлежащее. 

The man standing there is my father. Мужчина, стоящий там, мой отец. 
Несколько реже можно встретить употребление Present Participle Perfect. Оно выражает действие, предшествующее основному. Having decided what to do, she dialed the number. Решив, что делать, она набрала номер. 
Participle II (причастие второе). Эта разновидность английского причастия носит также название Past Participle. Соответствует страдательному причастию в русском языке, которое переводится аналогичным образом: eaten – съеденный, destroyed – разрушенный и т. д. Второе причастие прошедшего времени в английском языке имеет лишь одну форму – Past Participle Simple. 
Оно образуется от глагола двумя способами. Правильный глагол: окончание -ed присоединяется к основе (start – started, answer – answered, play – played). Неправильный глагол: третья форма в таблице неправильных глаголов (make – made, write – written, understand – understood). 
Употребление Participle II
Причастие 1 и 2 в английском языке различаются не только по форме, но и по содержанию, то есть по смысловой наполненности и использованию в предложении. Второе причастие так же неразрывно связано с существительным, как и первое, но есть отличие: это существительное не само является объектом действия, а испытывает его на себе. Например: a written letter – написанное письмо, a cooked dinner – приготовленный ужин, a closed door – закрытая дверь. Такое причастие в английском языке может выражать свойство предмета либо ранее совершённое действие. Пример для первого случая: He was a man respected and loved by everyone. (Он был человеком всеми уважаемым и любимым). Второй случай употребления можно проиллюстрировать так: I saw a broken window. (Я увидел разбитое окно). Все формы, которые имеет причастие в английском языке, могут употребляться в действительном или страдательном залоге. Причастие 1 в действительном залоге (Present Participle Active) употребляется, когда связанное с ним существительное или местоимение обозначает субъект действия (то есть само выполняет его): Singing she entered the room. (Напевая, она вошла в комнату). Причастие 1 в страдательном залоге (Present Participle Passive) употребляется, когда связанное с ним существительное или местоимение выражает объект действия (то есть испытывает действие на себе): Being tired he refused to join us. (Будучи уставшим, он отказался к нам присоединиться). Причастие 2 в силу своей специфики существует только в страдательном залоге. 
Функции причастия (Participle I и Participle II) в английском языке определяются типом (1 или 2) и залогом (действительный или страдательный). В зависимости от этих факторов, причастие может играть роль определения, обстоятельства или части сказуемого.
Синтаксические функции причастия 
и их перевод на русский язык:
1) часть сказуемого 

Participle I входит в состав сказуемого во всех временах групп Continuous и Perfect-Continuous.

Participle II входит в состав сказуемого во всех временах группы Perfect и в Passive Voice.
The man is sitting in the hall. Человек сидит в холле.

He has opened the window. Он открыл окно.
2) определение (какой?)

При переводе на русский язык Participle I в функции определения соответствует действительному причастию в русском языке (приглашающий, пишущий), а Participle II – страдательному причастию (приглашенный, написанный).

The man sitting in the hall is my farther. Человек, сидящий в холле, мой отец.

I see him through the opened window. Я вижу его в открытое окно.

3) обстоятельство

Participle I в функции обстоятельства отвечает на вопрос что делая? и переводится деепричастием.

Participle II переводится причастным оборотом или придаточным предложением.

Participle I может вводиться союзами when, while, а Participle II – when, if, unless. В этом случае они переводятся придаточными предложениями.

Sitting in the hall he reads newspapers. Сидя в холле, он читает газеты.
When published this article became a sensation. Когда эту статью опубликовали, она стала сенсацией.
Task 1. Translate the sentences into Russian paying attention to the forms and functions of Participle I and Participle II.
1. Due to specialized technologies, tractor plant is able to achieve the highest customers’ demands.
2. Having sold spare parts in our country, the company also cooperated with dealers and large warehouses abroad.
3. We concentrate our production on the components, which are used all over the country.

4. While working out a new design, the company launched a new type of cabin.

5. When produced the previous line had the same technical parameters.

6. Tractors being built on modern components assure a high quality and greater functionality.
7. Having been produced at this plant, the components are widely used by other tractors manufacturers.
8. The latest tractors are demonstrating a very low gas emission, low fuel consumption and long vitality and reliability.
9. Techno- logical development and increasing farmers’ demands has prompted to apply modern technologies while constructing tractors.
10. The fuel supply system is equipped with double filters and with water separator that signals the water presence in the fuel.
Task 2. Use the verbs in the appropriate forms of Participle I or Participle II.
1. (to assemble) tractor engines, the plant used update components.

2. This engine (to have) high parameters achieves a great power increase due to the electronically (to regulate) injection system.
3. Air supply system is (to protect) with dual-stage air filter.
4. As a standard, tractors are (to equip) with the gear box control system and devices (to signal) and (to register) their (to operate) functions.
5. This system disconnects the functions if a tractor is (to exceed) the speed of 20 km per hour.
6. Comfortable, spacious cabin with ergonomic location of (to control) elements, ensures very good visibility.

7. This new line of tractors has been (to work) out for the customers, who are (to look for) tractors of an average and large power, (to ensure) reliability and large effectiveness at the same time.

8. Such a system enables an easy (to handle), great functionality and work effectiveness.
9. It will be (to equip) with stabilizers with a new type of regulation.

10. Pneumatics has a single- or dual-circuit (to apply) in either agricultural or car wagons. 
Section 2. Vocabulary  and word study
Active vocabulary. Text A
to apply (v) – применять, использовать
These tools are applied for both tillage and planting.

track (n) – гусеница, путь, колея

Great attention is devoted to the development of wheel-type tractors and track-type tractors.

to haul (v) – тянуть, буксировать, тащить

It is desirable to haul a harrow behind the cultivator to level the soil.

to mount (v) –устанавливать, монтировать

Extra tillage can be obtained by means of special equipment mounted on the tractor.

implement (v) – орудие, инструмент, прибор
Аgricultural machine building is to secure the production of modern tractors and implements for them.

equipment (n) – оборудование
New farm equipment is supplied to different regions of our country.

load (n) –нагрузка, груз
Extreme load can bend steel.

by means of --  с помощью ч-л
The automation of all farming operations can be achieved by means of electrification.

belt-pulley (n) – ременной привод, шкив, блок

Belt-pulley is used in many stationary machines.

logging (n)—лесные разработки, лесозаготовки

Different kinds of machinery are used in logging.
land reclamation (n) – мелиорация почвы
Land reclamation is an important factor in increasing land productivity.

cereal crop (n) – злаковая культура
Cereal crops in this region were injured by insect pests.
intertillage (n) – межрядная обработка почвы
This kind of a tractor is used for intertillage operations.

beet (n) – свекла
It is very important to complete the mechanization of sugar beet production.
maize (n) – кукуруза 

The new equipment is used to mechanize and so to step up the production of cereal grains, maize, sugar beet.

to employ (v) – употреблять, применять, использовать

Land reclamation is employed on water logged soils.

vineyard (n) –виноградник
Special orchard tractors are used on vineyards.

to obtain (v) – достигать, получать, добывать

The farmer has obtained good results in the development of machinery for small mechanization.

crawler (n) –гусеничный (ход)

The wheel-type tractor is cheaper than a crawler.

versatile (adj) – многосторонний, гибкий
The wheel-type tractor is much more versatile of all power units.

water logged (adj) – заболоченный
Water logged soils need special machinery.
concern (n) – забота, беспокойство, значение, важность

Pest control is of primary concern on this farm.

alternative (n) – альтернатива, выбор
On unstable soils crawler is the best alternative to a wheel-type tractor.

vulnerable (adj) – уязвимый
Some parts of the machine are very vulnerable under bad climatic conditions.

to skid (v) – скользить, буксовать
This new hill-tractor does not skid on hills.

assembly (n) – набор частей (механизма)

This complex device is made up of many assemblies.

arrangement (n) – устройство, расположение, классификация
The arrangement of assemblies may vary from device to device.

crankshaft (n) – коленчатый вал
The motion of the crankshaft is transmitted to the sprockets.

power-unit (n) – двигатель
Power- unit is the main part of any tractor.

dashboard (n) – приборная доска
The dashboard contains all control devices.

Task 1. Complete the following sentences with the words from the list.
Versatile, mounted, by means of, equipment, intertillage, 
cereal crops, track-wheel tractor.
1. Different tillage accessories are … on the tractor.

2. We obtained good tillage … the application of trailing agricultural implements.

3. Tea and berry plantations require special … .

4. … are preferable for water logged soils.

5. … means  the tillage between the rows.
6. Farmers cultivate almost all kinds of … .

7. What is the most … tractor?
Task 2. Cross out the word that is wrong.

1. The increase of crop yield largely depends on the quality of (land reclamation /water logging).

2. The ventilation of the (hood / cab) has greatly improved the labour conditions of tractor operators.

3. The heart of the tractor is its (dashboard / power unit).

4. The engine is (mounted / hauled ) on the subframe.

5. The tractor can be (obtained / applied) for earth-moving and road-building jobs and for transport needs.

6. The developing food industry needs more (cereal crops / logging).

7. These (loads / implements) are intended for retarding weed growth.

Task 3. Choose the synonymous pairs of words.

	with the help of

		to apply


	to pull

		by means of


	choice

		to haul


	to use

		alternative


	set

		assembly


	classification

		to obtain


	to get

		arrangement


	corn

		power unit


	motor

		maize



	

	


Task 4. Translate the following «chains» of words.

Belt pulley, land reclamation, row crop, field work, orchard tractor, tea plantation, power unit, berry plantation, wheel-type tractor, highway tractor, control mechanism, track-type tractor, design adaptations, traction mechanism, power take-off attachments.
Task 5. Read and translate the following words.

Tractor, machinery, source, machines, to operate, construction, irrigation, to class, standard, adapted, plantation, type, efficient,   to compress, basic, model, principles, system, controls, accessories, energy, mechanical, to transmit, to transform, hydraulic.

Section 3. Reading and speaking
Task 1. Skim the text.

Begin your answer with the words: «This text is about …»
Task 2. Read the text bellow and answer the following questions.

1. What is a tractor?

2. Where can tractors be used?

3. How can tractors be classified?

4. What are the main tractor assemblies?

TEXT A

CLASSIFICATION OF TRACTORS
The term tractor is applied to a self-propelling vehicle on wheels or tracks capable of hauling trailing or mounted agricultural implements, earth-moving equipment, various machinery, and load-carrying body.

The tractor is also a source of power for various stationary machines which are operated by means of a belt pulley.

Tractors are used in multitude of power applications in agriculture, construction, logging, trucking, irrigation and land reclamation.

Modern agricultural tractors can be classed in the following way:

1) By application, into:

a) standard tractors, designed to propel and power tillage, sowing, cultivation, and harvesting implements used on cereal crops;
b) all-purpose tractors, primarily adapted for intertillage and harvesting of row crops, such as beet, cotton, maize, etc., but useful in other field works;

c) orchard tractors, also employed on tea plantations and vineyards.

2) By means of obtaining traction, into:

a) wheel-type tractors;

b) track-type tractors and crawlers.

The wheel-type tractor is cheaper to buy and operate than its track-type counterpart and weighs less than the latter. It is also a more versatile power unit, as compared with the crawler, and finds its application in row and truck crops, orchards, berry plantations and as a highway tractor.

But where efficient operation on soils either water-logged or unstable is of primary concern, the crawler is a better alternative. The crawler is also less vulnerable to skidding and compresses the soil to a lesser extent than is the case with the wheeled tractor.

Orchard tractors are predominantly design adaptations of basic models.

The tractor is a complex vehicle made up of various assemblies which interact with one another in a certain way. The assemblies may vary from tractor to tractor as to their design and arrangement, but the principles of construction and operation are always the same.

The main tractor assemblies are: the engine, power-transmitting system, traction mechanism, controls power take-off attachments and accessories.

The engine serves to convert the heat energy of fuel into mechanical work.

The power-transmitting system is intended to transmit the rotary motion of the crankshaft to the drive sprockets.

The traction mechanism serves to transform the rotary motion of the drive sprockets into forward motion of the tractor.

The power take-off attachments include a hydraulic lifting and control mechanism.

The accessories include the cab with a cushioned seat, hood, lighting equipment, horn, dashboard, toolbox, etc.

The operator’s comfort depends to a great measure on cab design. This is why it should meet special requirements. These vary with tractor type, seasonal and climatic conditions. General requirements may be summed up as follows.

The layout and internal dimensions of the cab should give the operator ample freedom of movement, easy access to controls, convenient and safe exit through the door. 
Good visibility from the cab is also essential. The cab must be well sealed against ingress of dust, exhaust gases and fuel vapours. Cab ventilation should provide for sufficient air exchange and filtration of incoming air. 

Task 3. Choose the correct answer to complete each statement.

1. The term tractor is applied to
a) self-propelled vehicle on wheels or tracks;
b) a source of power;
c) various assemblies;
d) power-transmitting system.
2. Tractors are used in:

a) agriculture;
b) construction;
c) irrigation;
d) all of the above.
3. The wheel-type tractor is:

a) less versatile power units;
b) cheaper;
c) heavier;
d) more difficult to operate.
4. Crawler is used:

a) in row crops;
b) on berry plantations;
c) on water-logged soils;
d) in orchards.
5. Orchard tractors are:

a) conventional tractors;
b) design adaptation of basic model;
c) highway tractor;
d) complex vehicles.
6. The power transmitting system is used:

a) to transmit the rotary motion of the crankshaft to the drive sprockets;
b) to convert the heat energy of fuel into mechanical work;
c) to transform the rotary motion of the drive sprockets into forward motion of the tractor;
d) to perform a hydraulic lifting.
7. The comfort of a driver depends on:

a) climate conditions;
b) conditions of soil;
c) cab design;
d) type of a tractor.
8. The cab must be protected from:

a) insect pests;
b) dust and exhaust gases;
c) other tractor drivers;
d) vibration.
Task 4. Translate the following word combinations. Remember about the translation of Participle II in the function of an attribute.

mounted agricultural implements;

standard tractors designed to propel implements;

implements used on cereal crops;

all-purpose tractors adopted for intertillage;

orchard tractors employed on tea plantations;

wheeled tractor;

complex vehicle made up of various assemblies.

Task 5. Translate the following sentences paying attention to the translation of Participle II.

1. The described method is widely used in industry.
2. The overheated steel will have poor mechanical properties.
3. The equipment used for this work is similar to that used in hot working.
4. The equipment tested required further improvement.
5. The amount of heat generated depended on the quality of the fuel used.
6. A chisel is a tool made of very hard steel.
7. The advantage of a diesel engine lies in the high efficiency obtained.
8. In the operation of a gas engine the number of strokes required to complete the cycle varies with the type of engines.
9. The life of an engine depends upon the care given to it.

Task 6. Answer the following questions to text A in a written form.

1. What is a tractor capable of?

2. What is a standard tractor used for?

3. What is an orchard tractor used for?

4. What are the advantages of a wheel-type tractor?

5. What are the advantages of a crawler?

6. What are the accessories of a tractor?

Task 7. Read and translate with the dictionary the two last paragraphs of the text. Answer the following question.
The operator’s cab should meet special requirements. What are they?

Vocabulary. Text B
	to mention
	упоминать

	bogland
	заболоченная земля

	marsh
	болото

	to draw
	тащить, тянуть

	ploughing
	вспашка

	sowing
	посев

	harvesting
	уборка урожая

	mowing
	косьба, покос

	to dig
	копать

	ditch
	канава

	to uproot
	выкорчевывать

	stump
	пень

	caterpillar
	гусеница, гусеничный

	lumbering
	лесозаготовки

	skidding tractor
	трелевочный трактор

	PTO (power take off)
	отбор мощности, 
отвод мощности

	virgin
	целина

	long-fallow land
	залежная земля

	breaker plough
	плуг для целины


Task 8. Read and translate the text given below.

TEXT B

THE TRACTOR
Speaking of farm machines, the tractor must necessarily be mentioned in the first place. Today one cannot imagine practically any agricultural work done without a tractor. This steel horse is always ready for a job, day and night in any weather. With ease and grace it cuts through hard soil, sand and snow, bogland and marshes. Having a mighty pulling power, a tractor can pass through any difficult ground.

No other vehicle is better adapted to haul and work all kinds of agricultural machinery and implements than a tractor. It is a machine usually powered with a gasoline or Diesel engine and is used to draw and work agricultural implements for ploughing, sowing, harvesting, mowing and a large variety of other jobs. A tractor is also used to cut roads, dig ditches and pits, uproot stumps, cut the bush, etc. The tractor can be wheel or caterpillar type. The former is more powerful. Versatile and economic as it is, the tractor finds in fact no end of useful applications in farming, not to speak of lumbering where skidding tractors are the best means of bringing cut timber from out of the forest. Tractors can be used both for stationary and field work. Many agricultural machines are tractor-propelled, that is to say there is a power take off (PTO) to the tractor-hauled implement; or else, the farming devices are tractor-borne. On virgin and long-fallow lands heavy tractors with breaker ploughs are essential.

Land reclamation on boglands, calling for drainage, requires heavy-type tractors to which bog-and-brush ploughs are attached. Of course, as other machines, the tractor is being constantly improved and is highly adapted to everyday jobs on every farm.

Task 9. Choose the correct answer to the following            questions.

1. Which of these farm machines must be mentioned on the first place?

a) combine;

b) cotton picker;

c) tractor;

d) harrow. 
2. What time is tractor ready for a job?

a) day;

b) night;

c) afternoon;

d) day and night. 
3. What engine is used to power a tractor?

a) steam;

b) diesel;

c) diesel or gasoline;

d) gasoline.
4. What agricultural implements is a tractor used to draw?

a) only for harvesting and ploughing;

b) for moving;

c) for sowing and harvesting;

d) ploughing, sowing,  harvesting and mowing.
5. What kinds of tractors are mentioned in the text?

a) wheel tractors and tracks;

b) skidding tractors and wheel;

c) caterpillar tractor and track;

d) wheel tractor, caterpillar, skidding tractor.
6. What tractors are of primary importance on long-fallow lands?

a) wheel tractor;

b) tractors with breaker ploughs;

c) caterpillar;

d) skidding tractors.
7. What tractors are widely used on lumbering?

a) high way tractors;

b) skidding;

c) wheel tractors;

d) track.
Task 10. Read and study the meaning of the following abbreviations met in the text below.

hp – horse power –мощность (в лошадиных силах);

bhp – brake horse power – тормозная мощность;

gph – gallons per hour – галлонов в час;

ha – hectare –гектар;

km/h – kilometers per hour – километров в час;

mm – millimeter – миллиметр;

r.p.m. – revolution per minute – оборотов в минуту.

Task 11. Read the text bellow and answer the following questions.

1. What are the main trends in designing new tractors?

2. What is the heart of the tractor?

3. What are the most important features of the T-150?

4. What are the basic technical data of the T-150 crawler-type tractor?
TEXT C

TRENDS IN TRACTOR DESIGN
It is known that the need for more food, feed and industrial crops regularly grows. Farmers usually meet these ever increasing demands by increasing crop yields. This largely depends on the quality of the machinery supplied by tractor and agricultural engineering industry. The most important machine used on farms is the tractor. The heart of the tractor is its power unit, that is, the engine.

The main trend adopted in designing new tractors and other farm machinery is as follows:

​​– to increase the capacity of an engine, mainly by increasing its power and field speed;

– to improve the design of transmission, chassis and the engine;

– to reduce fuel consumption and maintenance time;

– to improve labour conditions for tractor operators, etc.

The designers said that this trend result in basic improvements in tractor design. As a result, for example, both the wheeled and track-type general purpose tractors T-150 used in conjunction with trailing or mounted machines and implements are now able to perform not only the number of routine operations, such as soil cultivation, sowing and harvesting, but also land reclamation, earth-moving and other jobs. Of great importance now is that both the wheeled and the crawler models have up to 70% of standardized parts, which is of great importance.

The most important feature of the T-150 is its high power which provides higher field speeds as compared to other general-purpose tractors. Its other important feature is the dual transmission system. The tractor is equipped with an all-metal cab which may be heated and ventilated. The cab had greatly improved labour conditions.

The basic technical data (specifications) of the T-150 crawler-type tractor are as follows:

engine power – 150 hp, at 2000 r.p.m.

fuel consumption per brake horse power – 185 gph

range of speeds – 2.68 to 15.89 km/h

average soil compacting pressure – 0,44 kg/cm²

mass (weight) – 7400 kg.

Task 12. Read the above text again and retell it in Russian.

Task 13. Read the text «HILLSIDE TRACTOR» attentively and define the parameters: 
1. Type of the tractor 
2. Purpose of use 
3. Method of work 
4. The way of movement
HILLSIDE TRACTOR
It is a general purpose crawler. It is intended for performing various agricultural and forestry jobs in conjunction with mounted machines and implements. The tractor operates by a shuttle method on mountaneous slopes with gradient up to 20°.

The shuttle method of soil cultivation means that the tractor with front- and rear-mounted implements moves back and forth without turning at the end of the plots. On the forward run the rear-mounted implement is in the working position, while the front-mounted implement is in the transport position. During the reverse run the front-mounted implement is in the working position, while the rear-mounted one is in the transport position.

Task 14. Read the text «TRACTOR «KIROVETS» attentively and give characteristics according to the items given below the text.

Notes to the text:

stubble breaking – лущение стерни;

reverse reduction gear – реверс;

reducing gear box – ходоуменьшитель.
TRACTOR «KIROVETS»
It is a wheeled general-purpose model. It is intended for plowing, cultivation, harrowing, sowing stubble-breaking, snow retention and other agricultural operations. When additionally fitted with reverse reduction gear, PTO shaft, and an auxiliary reducing gear-box, it can be used for land reclamation, road-building and earth digging operations. It has a comfortable cab with well-arranged controls which can be heated and ventilated.

1. Type of the tractor 

2. Additional use
2. Purpose of use 

4. Cab state.
UNIT 4. FARM MACHINERY
Section 1. Grammar

Infinitive (Инфинитив)

Infinitive Constructions (Инфинитивные обороты)

Gerund (Герундий)

Infinitive (Инфинитив)
Инфинитив, или неопределенная форма глагола – это форма глагола, которая не имеет лица и числа. Инфинитив лишь называет действие, обозначаемое глаголом. Как и в русском языке, в английском неопределенная форма глагола отвечает на вопросы «что делать?» и «что сделать?»
Признаком инфинитива является частица to перед глаголом: to work работать, to read читать.

Синтаксические функции инфинитива 
и их перевод на русский язык
1) подлежащее

Инфинитив в функции подлежащего при переводе соответствует глаголу в неопределенной форме или существительному в именительном падеже.

To know English is important. Знать английский язык важно/ Знание английского языка важно.

2) обстоятельство цели

Инфинитив в функции обстоятельства переводится на русский язык при помощи союза чтобы. Чтобы правильно определить функцию, нужно найти в предложении подлежащее.

To get high yields we must irrigate the soil. Чтобы получить высокие урожаи, мы должны орошать почву.

В данной функции инфинитив может вводиться также союзом in order to (для того чтобы)
In order to get high yields we must irrigate the soil. Для того чтобы получить высокие урожаи, мы должны орошать почву.
3) определение 
Инфинитив в функции определения следует в предложении за существительным и переводится определительным придаточным предложением с союзным словом который.

These are students to take part in the discussion. Это студенты, которые примут участие в дискуссии.

We spoke about examinations to be taken in summer. Мы говорили об экзаменах, которые надо будет сдавать летом.
Infinitive Constructions (Инфинитивные обороты)
Инфинитивный оборот «Cложное подлежащее» (Complex Subject) строится по модели: подлежащее + сказуемое (обычно глагол в страдательном залоге) + инфинитив.
He is known to work in Moscow. Известно, что он работает в Москве./ Он, как известно, работает в Москве.
При этом инфинитив обозначает совершаемое действие, а глагол в страдательном или действительном залоге является формальным сказуемым, в качестве которого в этой конструкции могут употребляться только определенные глаголы:
1) В страдательном залоге (Passive Voice): to know – знать, to report – сообщать, to say – говорить, to suppose – предполагать, to state – утверждать, to expect – ожидать, to consider – считать, to believe – полагать, to think – думать, to find – находить.
They are expected to come back in two days. Ожидают, что они вернутся через два дня.

2) В действительном залоге (Active Voice): to seem –казаться (по-видимому), to happen – случаться, to appear – появляться (по-видимому), to prove – доказывать (оказывается), to be likely – вероятно, to be unlikely – вряд ли, to be sure, to be certain – быть уверенным (наверняка).
They are unlikely to come in time. Они вряд ли придут вовремя.
The work proved to be useful. Работа оказалась полезной.
Инфинитивный оборот «Cложное дополнение» (Complex Object) строится по модели: подлежащее + сказуемое (в действительном залоге) + местоимение или существительное в объектном падеже + инфинитив.
We expect them to do it in time. Мы надеемся, что они сделают это вовремя.
После глаголов, выражающих чувства и восприятие ( to feel – чувствовать, to see – видеть, to hear – слышать, to watch – наблюдать и др.) частица to опускается:
We saw them work on the farm. Мы видели, как они работали на ферме.
Инфинитивный оборот 
«For + существительное (местоимение) + инфинитив»
Эта конструкция переводится придаточным предложением, при этом слову  for соответствует союз чтобы, а инфинитив переводится сказуемым.
For people to work better they should be interested in the results of their labour. Чтобы люди работали лучше, они должны быть заинтересованы в результатах своего труда.
Gerund (Герундий)
В некоторых случаях вместо инфинитива может употребляться герундий. Сравните: 

They continued to discuss. / They continued discussing.

She will not forget to inform them. / She will not forget informing them. 
Герундий – это неличная форма глагола, которая образуется при помощи окончания – ing и может переводиться на русский язык существительным, глаголом или деепричастием. Герундий часто употребляется после глаголов, обозначающих начало, продолжение или конец действия: to begin/to start, to continue/to go on, to stop/to finish.
He began working at this problem. Он начал работать (работу) над этой проблемой.
Stop talking. Перестаньте разговаривать.
Герундий сочетает признаки глагола и существительного, являясь отглагольной формой, он может употребляться с предлогами и притяжательными местоимениями:

I am fond of reading. Я люблю читать (чтение).
After having breakfast, I went shopping. После того, как я позавтракал, я пошел за покупками.

I insist on your doing it. Я настаиваю на том, чтобы это сделали вы.
Task 1. Translate the sentences into Russian paying attention to the Gerund and functions of the Infinitive.
1. To use this model, the producer began replacing a diesel engine, a fuel system, and the radiator with a battery block.
2. To see a compact electric motor at the agricultural exhibition was important for farmers.

3. In order to improve the working process the farm purchased the necessary electric control system.

4. To control the cab temperature we use a new way of cooling air with the help of innovative thermal management system.

5. The battery pack to be used as storage for generated power was set up.

6. To move the attachment point closer to the rear axle was necessary to optimize the weight distribution.

7. It allows the operator to provide more space for the rotary plow to make turns.
8. Update harrows are simple to operate.

9. Here are the machines to be applied on the farm.

10. It’s impossible for farmers to get high yields without preparing combines for harvesting.
Task 2. Translate the sentences with Infinitive Constructions «Complex Subject» and «Complex Object».
1. A high-voltage battery is known to charge quickly and stores enough power to work for several hours at an average workload.
2. Agriculture is considered to be a basis of national economic development.

3. We believe the new equipment to be used this year.

4. All the processes on the farm are reported to be mechanized.

5. They are said to obtain drill-machines in three months.

6. This practice of irrigation is believed to raise soil fertility.

7. A well-known company is thought to be a leading equipment manufacturer of potato harvesting machinery.

8. We expect them to provide the ideal harvesting line for any farm.

9. An adjustable hitch is supposed to permit horizontal adjustment of the plow.
10. Farmers want row crop cultivators to support them in their day-to-day operations and to enable them to achieve optimal results in crop harvesting.
Section 2. Vocabulary and word study
Active vocabulary. Text A
tillage (n) – обработка почвы
Tillage is the first step in crop cultivation.

seeding (n) – посев
Seeding is necessary to do in proper time and well prepared soil.

to retard (v) – задерживать, замедлять
Weeds retard the growth of cultivated plants.

weed (n) – сорняк
Herbicides are widely used for weed control.

to include (v) – включать (в себя)
Tillage includes plowing, harrowing, cultivation and so on.

plowing (n) – вспашка
Different kinds of plows are used for plowing under different soil conditions.

harrowing (n) – боронование
Harrowing is used for cleaning and leveling the soil.

fertilizing (n) – внесение удобрений
Fertilizing is necessary when soils are very poor.

two-way plow (n) – двухходовой плуг
Two-way plows and disc plows may be tractor-mounted and tractor- drawn.

rotary plow (n) – ротационный плуг
The rotary plow is very effective on most soils.

to adjust (v) – регулировать, приспосабливать
The tillage implements are adjusted by means of hydraulic controls.

hitch (n) – сцепное устройство
Drills are attached to the tractor by adjustable hitch.

to prevent (v) – предотвращать, препятствовать
Soil cultivation prevents clot formation.

to incorporate (v) – содержать, включать (в себя )
Tillage implements incorporate different devices for soil cultivation.
spring release (n) – пружинное расцепление, пружинный предохранитель

Spring release is used to disconnect the plow from a tractor.

to connect (v)  – соединять
The hitch connects different tillage implements to the tractor.

obstacle (n) – препятствие, преграда
Stones are serious obstacles for the process of plowing.

to provide (with) (v) – снабжать, обеспечивать
Plows may be provided with either mechanical or hydraulic lifting mechanism.

lever (n) – рычаг
This lever is used for regulating the depth of plowing.

to level (v) – выравнивать
The rotating blades pulverize the soil and level the surface.

due to (prep) – из-за, благодаря ч-л
Satisfactory seed-bed was obtained due to proper plowing and harrowing.

to refine (v) – очищать
The soil must be refined from residues.

spike-tooth harrow (n) – зубовая борона (с игольчатыми дисками)
The spike-tooth harrow is a universally used implement and as old historically as the plow.

spring-tooth harrow (n) – зубовая борона (с пружинными зубьями)
A spring-tooth harrow is often pulled directly behind the plow.

spring-tooth weeder (n) – пружинный полольник для сорняка
Spring-tooth weeder is used to retard the weed growth.

row-crop cultivator (n) – культиватор для пропашных культур

Row-crop cultivator is used to till the soil in the row.

Task 1. Choose the correct answer to complete each statement.
1. Cultivation of row crops refers to tillage operations performed … .
a) before seeding;

b) after seeding;

c) after plowing;

d) after harrowing.
2. Cultivation … the growth of weeds.

a) retards;

b) fasten;

c) eliminates;

d) stops.
3. Tillage implements are adjusted … .
a) by hands;

b) by hydraulic controls;

c) by hitch;

d) by spring release.
4. Secondary tillage can … .
a) plow the soil;

b) refine the soil;

c) connect the soil;

d) adjust the soil.
5. Tractor-drawn plows are … with lifting mechanism.

a) prevented;

b) leveled;

c) provided;

d) retarded.
6. This weeder is effective in killing … .
a) insect pests;

b) weeds;

c) field crops;

d) seeds.
7. Horse-drawn … has now been replaced by tractor-mounted units.
a) tractor;

b) engine;

c) cultivator;

d) combine.
Task 2. Complete the following sentences with the words from the list.

Tillage, to level, seeding, to provide, fertilizer, adjustment, hydraulic, hitch, to include

1. Additional … can be obtained during the harrowing.

2. It is necessary to pull a harrow behind the cultivator … the soil.

3. Good plowing will often give enough tillage in the row … a good seed-bed.

4. Disk tillers are designed for both tillage and … .

5. This … is changing the angle of the land wheel and the furrow wheels.

6. Because of the wide variation in type of … , fertilizer equipment is one of the most diversified classes of farm machinery.

7. … control is generally employed.

Task 3. Read and translate the following words from the text bellow.

Physical, operations, primary, cultivation, disk, rotary, horizontal, position, lifting mechanism, mechanical, hydraulic, regulating, compact, manoeuvrability, controls, operator, cabin, type, cultivator, machine, operate, combine, specialize, specially, design, tomato, orange, mechanization, manual, method, accurate.
Task 4. Read and translate the following «chains» of words.

Weed growth, soil conditions, disk plows, plow points, spring release, tractor operator, spike-tooth harrow, spring-tooth harrow, row-crop cultivator, field cultivator, spring-tooth weeder.
Section 3. Reading and speaking
Task 1. Skim the text bellow.

Begin your answer with the words: «This text is about…»
Task 2. Read the text bellow and find the answers to the following questions.

1. What operations does tillage include?

2. What is primary tillage?

3. What is secondary tillage?

4. What kinds of plows are mentioned in the text?

5. What are the two levers of plows used for?

6. What does the kind of used harrow depend on?
TEXT A

TILLAGE AND TILLAGE IMPLEMENTS
As you know tillage is used to prepare the ground for seeding or planting, to retard weed growth and to improve the physical condition of soil. Tillage includes various operations: plowing (primary tillage), harrowing (secondary tillage), deep tillage, cultivation, fertilizing, etc.

Primary tillage or plowing may be done by various kinds of plows, such as two-way plows, disc plows, rotary plows, etc. The plows may be both tractor-mounted and tractor-drawn.

 Tractor-drawn plows are attached to the tractor by an adjustable hitch which permits horizontal adjustment of the plow and prevents «nosing» of plow points. The hitch incorporates a spring release or some other device which disconnects the plow when it strikes an obstacle. In some plows each bottom is held in working position by a heavy spring which permits the bottom to raise and pass over the obstacle. Tractor-drawn plows are provided with a lifting mechanism which raises them from or lowers them to their working position. The lifting mechanism may be either mechanical or hydraulic. There are also two levers: one for regulating the depth of plowing, the other for leveling the plow. A tractor-mounted plow is a compact unit of high manoeuvrability which is adjusted by means of hydraulic controls. Due to hydraulic controls the tractor operator can quickly connect and disconnect the implements without leaving the cabin. Tractor-mounted plows, like tractor-drawn plows, have two levers – one is used for regulating the depth, the other – for leveling the plow. Secondary tillage, or harrowing is done to refine the ground after plowing. Depending on the physical condition of soil and other factors various kinds of harrows must be used, such as, disc harrow, spike-tooth harrow, spring-tooth harrow, etc. It goes without saying that all types of harrows, like plows, are either tractor-mounted or tractor-drawn. There are other implements intended for retarding weed growth, such as row-crop cultivators, spring-tooth weeders, etc.

Task 3. Choose the answers given bellow to complete each statement.

1. Tillage is used

a) to prepare the ground for seeding;

b) to retard weed growth;

c) to improve the physical conditions of soil;

d) for all of the above.
2. Primary tillage is done by

a) different types of harrows;

b) various kinds of plows;

c) different kinds of implements;

d) different tools.

3. The plows may be

a) self-propelled;

b) tractor-mounted;

c) tractor-drawn;

d) tractor-mounted and tractor-drawn.
4. A spring release is used

a. to turn the plow;

b. to lift the plow;

c. to disconnect the plow;

d. to raise and low the plow. 
5. The lifting mechanism of a tractor-drawn plow may be

a) mechanical;

b) manual;

c) hydraulic;

d) mechanical or hydraulic.
6. By means of hydraulic controls the operator can

a) propel the tractor;

b) lift implements;

c) low implements;

d) connect and disconnect implements.
7. Secondary tillage is used

a) to plow the soil;

b) to refine the soil;

c) to fertilize the soil;

d) to seed plants.
Task 4. Choose the definitions from column B to the words from column A.
	A
	B

	1. tillage
	a) The refining of the ground after plowing.

	2. harrowing
	b) The primary tillage of the soil.

	3. plowing
	c) The preparation of soil for seeding, retarding weed growth, the improvement of physical conditions of soil.


Task 5. Do the following items paying attention to Gerund.
a) Form Gerund from the following verbs.

To plow, to harrow, to heat, to link, to perform.

b) Translate the following sentences.
1. Plowing is the basic operation.

2. Harrowing is done after plowing.

3. Farmers begin plowing in spring.

4. Seeding is done in spring too.

5. We begin harvesting in July.
Task 6. Translate the following sentences with Gerund. Remember that it is often used with prepositions in, for, of, by.

1. The tractor is used for performing such field operations as plowing, seeding, harvesting, etc.

2. For increasing the manoeuvrability of a tractor designers provided it with the adjustable frame.

3. The main trend in designing new tractors is as follows: to increase manoeuvrability.

4. Designers have increased the power of the engines, as high-powered engines are capable of developing higher field speeds.

5. These implements are intended for retarding weed growth.

Task 7. Find all cases of Gerund in text A.

Vocabulary. Text B
	
	

	to thresh
	молотить

	winnow
	веять

	straw
	солома

	bunch
	копна

	to exist
	существовать

	root (crop)
	корнеплод

	tuber
	клубень

	digger 
	резать, срезать

	industrial crops
	обмолачивать

	manual 
	ручной

	consider
	считать, рассматривать

	comprehensive
	комплексный

	versatile
	универсальный

	cut
bin                                               
	резать
отсек

	straw
	солома

	bunch
	пучок

	pea
	горох

	onion
	лук

	labour-consuming
	трудозатратный


Task 8. Read text B and find the answers to the questions given bellow.

1. How does a combine operate?

2. What are the specialized harvesters?

3. What diggers are mentioned in the text?

4. What is the labour-saving device for the harvesting of cotton?

5. How many rows can the cotton picker gather during one pass?

TEXT B
THE COMBINE
We shall now consider the most comprehensive and versatile machine: the combine. It has been very properly named «The Ship of the Fields».
The combine is an agricultural machine – usually operated by one man – which cuts the corn, then threshes out the grain and winnows it. The cleaned grain is gathered in the bin of the combine and then taken away by lorries. The straw is returned to the field and made into bunches.

No end of other specialized harvesters are in existence, each of them specially designed for purpose intended. Thus, we find cotton harvesters, pea harvesters, tomato harvesters, and even cherry and orange harvesters.

For harvesting root and tuber crops there exist various diggers, such as potato diggers, carrot diggers, onion diggers, even up to special sweet-potato diggers. But perhaps the best labour-saving devices are tuber and root harvesting combines among which the potato harvester stands out with particular prominence.

Cotton takes perhaps the leading place among all industrial crops. For the harvesting of cotton up to quite recent times manual methods alone were used.

But today, with the advent of comprehensive mechanization, most, if not all, labour-consuming kinds of labour are being taken care of by labour-saving devices. The cotton picker is usually tractor-mounted. Sometimes its working mechanisms operate from a PTO. During one pass this machine gathers cotton from two rows of the cotton plant. The cotton picker is manned by a single operator and it replaces the need to have twenty manual pickers.

Task 9. Are the statements true or false?
1. Combine is not the most versatile machine.

2. Combine is usually operated by a whole team of operators.

3. The straw is returned to the field.

4. The grain is taken away by lorries.

5. Tuber and root harvesting combines are the best labour-saving devices.

6. The manual methods till now are used for harvesting of cotton.
7. The cotton picker replaces the work of twenty manual pickers.

8. The cotton-picker is always tractor-mounted.
Task 10. Find in the dictionary the meanings of the words given bellow.

To involve, predetermined, random, scattering, dropping, appropriate, broadcasting, drill, precision drilling, hill drilling, checkrow planting, to meter, deposit, to omit.
Task 11. Read text C attentively and describe in Russian all methods of seed distribution given bellow.

BROADCASTING 
DRILL SEEDING 
PRECISION DRILLING 

HILL DROPPING 
CHECKROW PLANTING 
TEXT C
CROP PLANTING
Crop planting operations may involve placing of seeds or tubers (such as potatoes) in the soil at a predetermined depth, random scattering or dropping of seeds on the field surface (broadcasting), or setting of plants in the soil.

With appropriate planting equipment, seeds may be distributed according to any of the following methods:

1. Broadcasting (random scattering of seeds over the surface of the field).

2. Drill seeding (random dropping and covering of seeds in furrows to give different rows).

3. Precision drilling (accurate placing of single seeds at about equal intervals in rows).

4. Hill dropping (random dropping of groups of seeds at about equal intervals in rows).

5. Checkrow planting ( accurate placement of hills or groups of seeds to give rows in two perpendicular directions)

Mechanical Functions of Seeding Machine. 
With the exception of broadcasters, a seed planter is required to perform all the following mechanical functions:

Open the seed furrow to the proper depth.

Meter the seed.

Deposit the seed in the furrow in an acceptable pattern.

Cover the seed and compact the soil around the seed.
The primary function of a broadcaster is to meter the seed and distribute it with reasonable uniformity over a given width of land. 
Covering is a separate operation or is omitted entirely under some conditions.

Task 12. Tell in Russian about the mechanical functions of a seeding machine.
Task 13. Choose to the names of the implements from 
column A their functions from column B.

	A
	B

	Grain Drills
	place moist soil in contact with the   seeds, press the soil around the seeds,  cover them to the proper depth.

	Checkrow Planters
	give the greater uniformity of seed distribution and the more uniform seeding depth.

	Covering Devices
	give straight cross-rows and simplify the control of weeds by permitting cross-cultivation.

	Transplanters
	place the plants in the furrow.

	Plant Setters
	transplant the plants propagated in beds in the field.  


ЗАКЛЮЧЕНИЕ
Учебное пособие представляет собой взаимосвязанный комплекс, в процессе работы над которым обучающиеся должны овладеть профессиональной англоязычной терминологией, активизировать грамматические структуры, усовершенствовать их реализацию во всех видах речевой деятельности. Таким образом, логическая структура учебного пособия позволяет осуществлять формирование коммуникативной компетенции, под которой понимается  умение соотносить языковые средства с конкретными сферами, ситуациями, условиями и задачами профессионального общения.  

Многообразие учебных материалов позволяет  варьировать объем заданий и может способствовать решению некоторых сложных задач, связанных с дифференцированным подходом к обучению, учетом индивидуальных особенностей и степени подготовки  обучающихся. 
Так как характер учебных материалов, их методическая организация делают возможным взаимосвязанное обучение всем видам речевой деятельности на иностранном языке, способствуют изучению грамматического строя английского языка, обучению чтению и переводу англоязычной литературы, они также обеспечивают постепенный переход к работе с аутентичными профессионально ориентированными текстами. 
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